HEE|UHETHOY) 1

2, Hoj=

AAIE S5te] mtoly e AlojtxE A=t

[oIRl 1] ZZHE

-———<python
a=>5
if a>2: # AL 2t
print("Afzt") # 23 ¢ A
else:
print("s=Ht")
print("E0OFE") # £ . EOIE
- Tpolie BEAE dojoln], goiMy| EHE AASHA A|AoF At (471
- o2 EOMIE o] gsto] Alo]Htx o] mX|= HeE AARIh
- ofo| oA 7|8 #2 FMo|t}

[clxl 2] =22 - X, #HA

-———<python
if True: # 2U2 & (Trueg] A A= HEZALR)
print("Afat") # 23 A
print("EL") #E28 LT
else:
print("4=4}")
print("20|")
print( EOLE") # £%  EOE, HAEHEE S5

- mpol oA & AR 71EA 0 Z True(1)2} False(DZ HFS 4= Qi

Aoz XIste 7 | True, 1, 2, 3.14, 0.0001 5

A
7xlo g % ZsH= A |False, 0, None, ', " ", 0, [0, {

- sfol oA St 0t False2 Aelgict,
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[oI% 3] CHECHQIE

-———<python
ab=12 # OEHYUs
a,b=b, a # a=2, b=1
if a > b: #2U2
pass # B85 7|aY Aol Y2
else:
print("s=4}")
print(a) # &322
print(b) # &3 1
COS YT - AR = gl oY 9] WS Tleshs AETE D)
-SR] W 9 389 M FUdlof g
- SHSES ARSSHd T Wl ghs hdsHAl a4 ok

[o4H 4] 2 7h2 TheY
-———<python
100
200

if a > b: # 202 HA

max

1}
[+}]

else:
max = b # A
#

SRU
print(max) =3 200

[OIXl 5] 101 107tX] &

-——<python

# 1014 10712| &

s=0

for a in range(1, 11): # 10{|A 107}7| €5, 1121 Zi0f| <!
s=s+a # L=A

print(s) # £ . 55




ZAOE{QHHSIHS) 3

[CIH 6] 191M 107kx] B4 ot

-———<python
# 10|A 107FR] Br4= 3
s=0
for a in range(1, 11):  # 10{A 107}A| gH=
if(@%2==0): # b7t Br=O|H 2t
s=s+a # R A
else:
pass # passe £9E5| 7| A0| 9fE2 W
print(s) #2+4+6+8+10=30

[oxl 7] 19M 107HK] Z4 £
-——-<python
#1004 1071 B4 £

for a in range(1, 10, 2): # 15E 2% =7¢

print(a) # 84
# £

owuw-—=MY

[CIHl 8] 191M 107Hx] 4 B

-———<python
# 1004 1072 B4
s=0
list.a=1[1357 91 #Z2E %ol
for a in list_a: # B4
s+=a # 25 54
print(s) #1+3+5+7+9=25
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[CIxl 9] HHY 2IAE X2

-———<python
# HIQ 2JAE X2

list = ((1,'3AAY), (2/01=4),3/AFE))  # HIG HAE FHo
for id, name in list: # H|E 2|AE

print(id, name)
=y

w N = 3
o

[CIXl 10] 1°M 57X & — while

-—-—<python
n=1
s=0
while True: # 2 A ZH(True? 2 A= HEALE)
s +=n # A
if n >=5:
break # while 5 ¥&
n += 1 #1 37t

print(s) #1+2+3+4+5=15




